
Home » MTSIM » MTSIM MTS Base Frame Desk Installation Guide  

Manuals+ —  User Manuals Simplified.

MTSIM MTS Base Frame Desk Installation Guide

https://manuals.plus/#content
https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/mtsim
https://manuals.plus/mtsim/mts-base-frame-desk-manual.pdf


Contents
1  MTS DESK

1.1 Instruction Manual
1.1.1  PARTS

1.1.1.1  PRE-ASSEMBLED
1.1.2  ASSEMBLY

1.1.2.1  USUALLY PRE-ASSEMBLED
1.1.3  OPERATION
1.1.4  OPTIONAL BIG DESK
ASSEMBLY

2  Documents / Resources
2.1  References

3  Related Posts

MTS DESK

Instruction Manual

PARTS

[dimensions in mm / different scales] No extra or spare parts listed!

1x  1x 

2x 

1. threads

1x 

https://manuals.plus/#mts_desk
https://manuals.plus/#instruction_manual
https://manuals.plus/#parts
https://manuals.plus/#pre-assembled
https://manuals.plus/#assembly
https://manuals.plus/#usually_pre-assembled
https://manuals.plus/#operation
https://manuals.plus/#optional_big_desk_assembly
https://manuals.plus/#documents_resources
https://manuals.plus/#references
https://manuals.plus/#related_posts


1. threads on both sides

1x 

1x    1x

2x        3x  

6x                         24x 

 

4x  extrem flat head black  6x 

 

20x  black                4x   black



3x  black

PRE-ASSEMBLED

with this parts:

2x 

4x   8x     4x 

4x    4x  4x  

ASSEMBLY



1. pre-assembled universal connector

fix in middle position

1. 2x slot nut M8

2. cap



1. 2x M8x16 flat head black

USUALLY PRE-ASSEMBLED

2x

1. 2x star knob M6x25

2. 4x washer Ø12

3. 2x slot nut M6



4. 2x bearing

5. 2x curved spring washer

6. 2x roller

7. 2x M4x20 flat head

1. 2x M8x30 extrem flat head black

2. washers Ø16 black

3. cap screwable



Use a plan surface for assembly.

1. threads

2. 4x pre-assembled universal connector

1. caps



1. 4x slot nut M8

for both sides

1. 4x M8x14 flat head black

2. before 2024 (6mm thick plates) 4x M8x16 flat head, black



1. on the other side too

2. 4x slot nut M8



1. on the other side too

2. 4x M8x14 flat head black

3. before 2024 (6mm thick plates) 4x M8x16 flat head, black

1. roll into the upper slots

Detail view



1. 2x screwable cap

2. 4x M8x14 flat head black

3. before 2024 4x M8x16 flat head, black

Detail view

1. screwable cap



2. 2x M8x14 flat head black

3. before 2024 4x M8x16 flat head, black

OPERATION

1. Loosen the red marked bolts on each side to adjust the height.

1. Loose the 4 star knobs on each side.

Grab on both sides and move evenly!



1. Loosen the screws marked in red to tilt the desk.

1. Loosen the screws marked in red to change the distance of the desk.

OPTIONAL BIG DESK ASSEMBLY



1. 3x slot nut M8

MTSIM MTS DESK INSTRUCTION MANUAL



1. 3x M8x16 flat head black

12-01-2024

Documents / Resources



MTSIM MTS Base Frame Desk  [pdf] Installation Guide
MTS Base Frame Desk, MTS, Base Frame Desk, Frame Desk, Desk

References

User Manual

Manuals+, Privacy Policy

This website is an independent publication and is neither affiliated with nor endorsed by any of the trademark owners. The "Bluetooth®" word mark and logos are registered trademarks owned by Bluetooth
SIG, Inc. The "Wi-Fi®" word mark and logos are registered trademarks owned by the Wi-Fi Alliance. Any use of these marks on this website does not imply any affiliation with or endorsement.

https://manuals.plus/m/a84eae324d9abd3c852344e97f68b44ff6b145886b182d7683a0fb3b3fe9cd58
https://manuals.plus/m/a84eae324d9abd3c852344e97f68b44ff6b145886b182d7683a0fb3b3fe9cd58_optim.pdf
https://manual.tools/?p=13305992#MTA0LjI4LjIzNC4xNzk7Ozs7
https://manuals.plus/
https://manuals.plus/privacy-policy

	MTSIM MTS Base Frame Desk Installation Guide
	MTS DESK
	Instruction Manual
	PARTS
	ASSEMBLY
	OPERATION
	OPTIONAL BIG DESK ASSEMBLY


	Documents / Resources
	References



